BEEMETEME - TEEFRKE

SRR 234 (BN : R - %)
ERr (3= = g fE| SR |RiER MRkl AT |3 2 kR T B e [aisEkk| ekt
a Bt 16, 749,229| 93.3(100.0 = gt 16,749,229 93.3/100.0
1 (2)|&E il 3,243,088 93. 1 19.4f1 (D|F #E| 3,503, 169]102. 5[ 20.9
2 (| wW & 3,010,359 78.3| 18.0[|2 (2) |4 El B[ 1,909,598 80.9| 11.4
3 )5 sk B ® = 2,131,771 75.4 12.73 (3)|¥EF F| 1,500, 259[105.6[ 9.0
4 (7)|BE + | 1,335,980 181. 1| 8.0f[4 (5)|H | 1,415,368/ 110.0[ 8.5
5 W|E A & 1,023,070 84.6] 6.1)|5 (6)|K Ed A 1,270,892 117.5[ 7.6
6 (7| i 906,360(134. 1| 5.4 6 (@)1l W 1,228,001 91.4f 7.3
7 (6) | A W 781,369 99.3| 4.7[7 (7| = 962, 753|125.4| 5.7
8 (5) |4 % 754,652] 90.7| 4.5|[8 (11)|M H (i 528,540 113.6] 3.2
9 (10) |&k i 551,763[117.0] 3.3]|9 ®H T+ @ 448,550 82.4| 2.7
10 (11) B ;2 7 436,286 97.6| 2.6[[10 (9)|= ) 341,888| 67.0| 2.0
10 & FE & FH 14,174,698 92.6| 84.6 10 # A& #H 13,109,018 99.3| 78.3
z D fin| 2,574,531 97.8| 15.4 A D fin| 3,640,211 76.6[ 21.7
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SRR 234 (BN : R - %)
ERr (3= = 8 fE| SR AR MRkl AT |3 2 kR T B SR [aisEk| ekt
a & 23,822,554| 97.1(100.0 = &t 23,822,554 97.1(100.0
L (D]|k il 7,649,000 85.1f 32.1f1 (1)|& Al 7,642,200| 85.0[ 32.1
2 ()5 Bk A ® #H| 2,673,977|101.2[ 11.2[2 (2) I % 2, 521,507[100.0| 10.6
3 ) F | 2,542,439/ 112.9 10.7[3 () |4 i & 1,827,834 85.9[ 7.7
4 Wkt A v B 2,398 764[112.6] 10.1|4 (4 |K Ed A 1,734,463 98.2[ 7.3
5 B)|A Rl 1,920,031[100.1] 8.1f5 (5)|T %E 1,652,027 99.6| 6.9
6 6)|F W B A 1,861,973[112.2] 7.8||6 (6)|MM H il 1,206,969[151.9] 5.1
(7) |4 | 1,536,214 96.5| 6.4)|7 (7)|4 I3 868,487/ 133.6| 3.6
8 (B A& & &b 1,015,713 86.8[ 4.3||8 (8)|Xi H 563,653(111.8] 2.4
9 (9)|E i 712,972(108.6| 3.0] 9 (10) [ UN A, 488,545(119.8| 2.1
10 (10) [A JK el 379,120/ 120.5( L.6ff10 (22)|f& b T & 355,191/233.8| 1.5
10 & & A Ff 22,690,203| 97.3| 95.2 10 # &  Ff 18,860,876 96.3[ 79.2
z D fih| 1,132,351 94.1| 4.8 A D fih| 4,961, 678[100. 1| 20.8
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